
Odstavná kolej dl. 210 m

Obratová kolej dl. 150 m

Obratová kolej dl. 150 m

Odstavná kolej dl. 205 m

R1(8) = 496 m
V = 80 km/h; D = 70 mm; I = 22 mm
alfa = 64,801 422°; Li = 594,5766 m

Lk = Ld = 33,600 m; klotoida

R
2(8) = 500 mV = 80 km/h; D = 70 mm; I = 21 mm

alfa = 55,497 305°; Li = 517,905 m

Lk = Ld = 33,600 m; klotoida

R1(9) = 1000 m

V = 80 km/h; D = 30 mm; I = 16 mm

alfa = 35,590 239°; Li = 643,366 m

Lk = Ld = 22,200 m; klotoida

R2(9) =
 800 m

V = 80 km/h; D = 40 mm; I = 17 mm

alfa = 26,286 121°; Li = 382,624 m

Lk = Ld = 20,000 m; klotoida

R
1(8) = 496 m

V = 80 km/h; D = 70 mm; I = 22 mm

alfa = 45,311 342°; Li = 425,854 m

Lk = Ld = 33,600 m; klotoida

R
2(8) = 500 m

V = 80 km/h; D = 70 mm; I = 21 mm

alfa = 45,311 342°; Li = 429,016 m

Lk = Ld = 33,600 m; klotoida

R
1(9) = 500 mV = 80 km/h; D = 70 mm; I = 21 mm

alfa = 42,309 432°; Li = 402,819 m

Lk = Ld = 33,600 m; klotoida

R
2(9) = 500 mV = 80 km/h; D = 70 mm; I = 21 mm

alfa = 42,309 432°; Li = 402,819 m

Lk = Ld = 33,600 m; klotoida

R
2(10)  = 800 m

V = 80 km/h; D = 0 mm; I = 57 mm

alfa = 10,752 037°; Li = 150,113 m

R
1(10)  = 813,5 m

V = 80 km/h; D = 0 mm; I = 56 mm

alfa = 10,752 037°; Li = 152,646 m

R
2(8) = 500 mV = 80 km/h; D = 70 mm; I = 21 mmalfa = 62,298 083°; Li = 577,253 mLk = Ld = 33,600 m; klotoida

R
1(8) = 496 m

V = 80 km/h; D = 70 mm; I = 22 mm

alfa = 62,298 083°; Li = 572,855 m

Lk = Ld = 33,600 m; klotoida

R2(10) = 800 m
V = 80 km/h; D = 0 mm; I = 57 mm
alfa = 4,062 664°; Li = 56,726 m

Obratová kolej dl. 140 mOdstavná kolej dl. 205 m

2x Odstavná kolej

dl. 1
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R1(1)
 = 500 m

V = 80 km/h; D = 70 mm; I = 21 mm

alfa = 16,054 353°; Li = 173,700 m

Lk = Ld = 33,600 m; klotoida

R2(1)
 = 500 m

V = 80 km/h; D = 70 mm; I = 21 mm

alfa = 16,054 353°; Li = 173,700 m

Lk = Ld = 33,600 m; klotoida

R2(2)
 = 496,3 m

V = 80 km/h; D = 70 mm; I = 22 mm

alfa = 16,171 481°; Li = 173,680 m

Lk = Ld = 33,600 m; klotoida

R1(2)
 = 500 m

V = 80 km/h; D = 70 mm; I = 21 mm

alfa = 16,171 481°; Li = 174,722 m

Lk = Ld = 33,600 m; klotoida

R
1(3) = 500 m

V = 80 km/h; D = 70 mm; I = 21 mmalfa = 39,859 084°; Li = 381,435 mLk = Ld = 33,600 m; klotoida

R
2(3) = 500 m

V = 80 km/h; D = 70 mm; I = 21 mmalfa = 39,859 084°; Li = 381,435 mLk = Ld = 33,600 m; klotoida

R1(4) = 500 m
V = 80 km/h; D = 70 mm; I = 21 mm
alfa = 52,397 968°; Li = 490,858 m

Lk = Ld = 33,600 m; klotoida

R2(4) = 500 m
V = 80 km/h; D = 70 mm; I = 21 mm
alfa = 52,397 968°; Li = 490,858 m

Lk = Ld = 33,600 m; klotoida

R 1(5)
 = 500 m

V = 80 km/h; D
 = 70 mm; I =

 21 mm

alfa = 15,373 538°; L
i = 167,759 m

Lk = Ld = 33,600 m; klotoida

R 1(6)
 = 813 m

V = 80 km
/h; D

 = 0 m
m; I

 = 56 m
m

alf
a =

 15,431 741°; 
Li =

 218,969 m

R
1(7) = 450 mV = 80 km/h; D = 80 mm; I = 21 mm

alfa = 63,800 933°; Li = 539,490 m
Lk = Ld = 38,400 m; klotoida

R 2(5)
 = 500 m

V = 80 km/h; D
 = 70 mm; I =

 21 mm

alfa = 11,023 219°; L
i = 129,795 m

Lk = Ld = 33,600 m; klotoida

R 2(6)
 = 800 m

V = 80 km
/h; D

 = 0 m
m; I 

= 57 m
m

alfa
 = 15,520 142°; 

Li =
 216,702 m

R
2(7) = 450 mV = 80 km/h; D = 80 mm; I = 21 mmalfa = 59,362 213°; Li = 504,628 mLk = Ld = 38,400 m; klotoida

Obratová kolej dl. 140 m
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trať metra - varianta 3
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